Technical data
Protection class IP40

HY SERIES

HY HEAT-SINK ALUMINIUM ENCLOSURE

e
s
o,
‘Wn'«;—,.,‘_

- /,

n

=
=
=
—
—
—
=

e Heat-sink side plates applied for heat release effect.
e Selectable in 24 sizes, available in 2 colors.

® Tough enclosure of aluminum extrusion parts.

e Stylish and excellent body with hairline surface.

o]

<5

o5

I
@f..

Components
Ref. # Part name Pcs Material Color / Finish
1 Heat-sink side plate 2 Aluminium extrusion Silver - Black anodized
2 Panel 2 Aluminium extrusion Silver - Black anodized / Hair-line finish
3 Cover 2 Aluminium t2.0 Silver - Black anodized / Hair-line finish
4 Corner support 4 Steel t1.6 Trivalent chromate
5 Rubber feet 4 Polyurethane Black
= Screw 1 set Steel M3 Nickel plated - Black trivalent chromate

Accessories (Optional parts)

Mounting plate HYC sreies L- mounting bracket Torx screw
HYCL series for top/bottom cover
A _ : MR3-5Z series
- T . ' . e 't

o e -

See bage ‘1649 See page 149 See page 269

145



] HY dimensions \

W

Available range W-44

L

5.6

12-M3

3

JoouutduuouUsUUUUouUU0UULD

J(

2
<L

1

(0000000o0000ACCONNOo0000CdL] &

D

TAKACHI

HY SERIES

Available range D-6

*

Available range H-8
H-4

@ X o o ]
Color Type
Color code Heat-sink side plate Panel Top - Bottom cover
SS Silver Silver Silver
BB Black Black Black

/

8-M3 for Mounting plate

e

255

® Please suffix color code at the end of part number OO when ordering HY series.

Part no. / Dimensions

Part no. w H D Weight (kg)

CED HY 44-23-2300 230 44 231

CE0 HY 44-28-2300 280 44 231

CED HY 44-33-2300 330 44 231

CEM HY 44-43-23000 430 44 231
HY 70-23-23[1[] 230 70 231 1.6
HY 70-28-23010] 280 70 231 1.8
HY 70-33-2300 330 70 231 2.0
HY 70-43-2300 430 70 231 2.3
HY 88-23-23[1[1] 230 88 231 1.9
HY 88-28-23010J 280 88 231 2.1
HY 88-33-2300 330 88 231 2.3
HY 88-43-23010 430 88 231 2.7
HY 99-23-2300 230 99 231 2.1
HY 99-28-230101 280 99 231 2.3
HY 99-33-2300 330 99 231 2.5
HY 99-43-2300 430 99 231 2.9
HY133-23-2300 230 132.5 231 2.6
HY133-28-23001 280 132.5 231 2.8
HY133-33-2300 330 132.5 231 3.0
HY133-43-2300 430 132.5 231 35
HY149-23-2300 230 149 231 2.8
HY149-28-23001 280 149 231 3.1
HY149-33-23000 330 149 231 3.3
HY149-43-2300 430 149 231 3.8

146



HYC ® HYC L seres

HYC MOUNTING PLATE FOR HY-HYR

e CAD data is downloadable from our website.

w
14.1 13.6 . . .
36 .73 5 | 6| 2 installation ways by changing
the mounting bracket direction.
1| ] ©] &
S O CJ ::% © w| T A
S N Sive ©
< -lJL Mounting plate F
“L
- ] %ﬂ
7
E Bottom cover ~ L-bracket
g S 8 “

Mounting plate

N NL% %

=
C J L o 2 :
< k2 R . :f:sF
(/ 5-M3 2035 E| Bottom cover  L-bracket
_ 18 g
]
Components Part no. / Dimensions

Ref. # Part name Pcs Material Color / Finish Part no. w Case size | Weight(g)

1 Mounting plate 1 Aluminium t2.0 Unfinished HYC23-23 177 230%230 300

2 L-bracket 2 Steel t1.6 Trivalent chromate HYC23-28 227 230%280 350

= Screw 1 set Steel M3 Trivalent chromate HYC23-33 277 230%330 410

HYC23-43 377 230%430 520

5-M3
3 - < < =l =
[
11 45 45 45 45 11
15 195 78 Components

217 Part name Material Color / Finish
L-bracket Steel t1.6 Trivalent chromate
185 180 185 Screw Steel M3 Trivalent chromate

6| 1.6
! | . .
o] <l g] =|] Part no. / Dimension 1pack = 2pcs
2088 Part no. L Sales unit
HYCL-23 217 2

149



APPLICATION EXAMPLE

Industrial computer

ULl
LT TS
e =
e
B

e A Compact HDD recorder equipped with a slim DVD-R/RW, 3.5HDD and MPEG-2 encoder with on-board TV tuner installed
on HY99-23-23SS.

e The fanless unit equipped with a heat pipe cooling system connected to heat-sink side plates and DC/AC adapter.

Much more silent and compact than the system with CPU cooler with a fan. The cooling system also enables this hole-less
enclosure to prevent unwanted dust invasion.

150



MR-EM-EV SERIES

| MR TORX SCREW |
Head type
Countersunk head Binding head Pan head Slotted raised countersunk

-

h

SRR,

ey

f-—

[

&

M

With pin

pin

Part no. / Dimensions

% Without pin

*Mark = Without pin

1pack = 20pcs

Torx
Part name Part no. M L head |Material Finish Suitable enclosure
no.
. TW5-2-5-5-3-5
MR2.6 — 10S * 26 | 10 T8 Steel | Nickel plated TW/TWN4-2-5 - 4-2-6 - 4-2-8 - 5-2—7 -
5-3-7 - 5-4-7 - 8-2-8 - 8-4-8
TWF5-2-7 - 5-3-7 - 5-4-7
MR2.6 — 10B * 2. 1 T | | Black h
6—10 6 0 8 Stee ack Cr3 chromate MYXMXAT =501 - 24— - 2-6-0] - 2-10-L]
Countersunk MR2.6— 14S 26 | 14 | T8 | Steel | Nickel plated TWITWN7-2-11 - 7-4-11 - 7-5-11
head LC115-N-F2-F3
tapping LC115H-N - F2 - F3 - M2 - 9V
screw _ . LC135-N - F4 - M2 - M3 - 9V
MR2.6 — 18S 26 | 18 T8 Steel | Nickel plated LG135H=N - F4 - M2 - M3 - 9V
LC165/LC165H-N - M4
_ . TW5-3-10
MR3 14S * 3 14 T10 Steel | Nickel plated TW/TWN5=39 - 7-3-13 - 7-5-13 - 9-4-17 - 9617
TWF7-3-13 - 7-5-13 - 9-4-17 - 9-6-17
MR3 —14B * 3 14 T10 Steel | Black Cr3 chromate MX4-7-01 - 4=10-0] - 4-13-01
Countersunk MR — 1S 3 5 T10 Steel | Nickel plated uc
head MR — 1B 3 5 T10 Steel | Black Cr3 chromate | UC
screw MR —2S 3 10 T10 Steel | Nickel plated HEN
Binding head MR2.5— 8ST 2.5 8 T8 SUS | Unfinished WP9-13-3 - 10-10-3 - 11-15-3
screw MR2.5— 16ST 25 | 16 T8 SUS | Unfinished WP9-13-4 - 10-10-4 - 11-15-4
MR1.6 — 6S * 1.6 6 T3 Steel | Nickel plated CSS-CS
MR2.5— 8PS 2.5 8 T8 Steel | Nickel plated PF15-3-10 - 15-5-10 - 15-3-15 - 15-5-15
MR2.6 — 12PS 2.6 12 T8 Steel | Nickel plated LC115-F2 - F3
:’an head LC115H-F2 - F3 - M2 - 9V
apping screw ) LC135-F4 - M2 - M3 - 9V
MR2.6 — 14PS 26 | 14 T8 Steel | Nickel plated LC135H=F4 - M2 - M3 - 9V
LC165/LC165H-N - M4
MR3 — 8PS 3 8 T10 Steel | Nickel plated PF20-4-13 - 20—-6-13 - 20-4-20 - 20-6-20
Slotted raised MR3 — 5ZS 3 5 T10 Steel | Nickel plated
countersunk screw| MR3 — 5ZB 3 5 | T10 | Steel | Black Cr3 chromate | C CF ~FC FCH HS -HY - HYR

269




